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80 1.295 0.486 5.919 0.001 0.009 7.709
81 1.314 0.504 5.930 0.001 0.069 7.818
82 1.337 0.485 6.325 0.001 0.067 8.214
83 1.345 0.494 7.063 0.000 0.116 9.018
84 1.362 0.509 7.721 0.001 0.416 10.009
85 1.371 0.541 8.082 0.000 0.406 10.399
86 1.391 0.527 8.215 0.003 0.109 10.245
87 1.366 0.505 8.376 0.000 0.122 10.370
88 1.325 0.488 8.608 0.004 0.068 10.493
89 1.280 0.470 8.030 0.001 0.267 10.047
90 1.255 0.471 7.311 0.000 0.570 9.606
91 1.251 0.475 6.830 0.001 0.638 9.195
92 1.247 0.523 6.322 0.004 0.442 8.538
93 1.206 0.495 5.777 0.013 0.536 8.026
94 1.178 0.526 5.231 0.018 0.375 7.329
95 1.115 0.527 4.666 0.021 0.500 6.830
96 1.091 0.589 4.144 0.027 0.592 6.443
97 1.044 0.569 3.608 0.031 0.464 5.715
98 1.025 0.575 3.072 0.034 0.163 4.868
99 1.012 0.551 2.601 0.040 0.219 4.423
100 0.988 0.565 2.226 0.050 0.158 3.986
101 0.955 0.607 1.890 0.046 0.157 3.655
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103 0.915 0.665 1.351 0.039 0.155 3.125
104 0.906 0.693 1.141 0.037 0.109 2.886
105 0.879 0.779 0.970 0.037 0.139 2.804
106 0.855 0.870 0.835 0.039 0.136 2.734
107 0.837 0.968 0.723 0.044 0.166 2.738
108 0.789 0.991 0.645 0.047 0.222 2.693
109 0.774 0.881 0.596 0.050 0.306 2.607
g 94 # -34.3% +67.6% -88.6% +168.1% -18.4% -64.4%
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